2H9H (H) [%#EnES Y8 LFIIINRA(DIFR)

1 2 3 4 5 6 7 8 [Yivi
1. A ZRVIAY %N
6-10|16-10|2-6X| 3-6X|4-6X]| 1-6X]| 3-6X 6
(ThreeF)
2. I\MR - Fefin
1-6x 5—-6X | 2-6X| 5-6X|1-6X|1-6X| 3-6X 8
(Aster)
3. A=A
(3 1-6x | 6-50 0-6X| 4—-6X| 3—-6X|2-6X]| 2-6X 7
4. AE -/
6-20|6-206-00 6-10|6-00]16-20|6-30 1
(PAC)
5. R - A
_ 6-30|6-50|6-40| 1-6x 5-6X | 5-6X | 6-40 5
HIER-on-1 ine)
6. FH- L3
() 6-40|6-10|6-30|0-6%x|6-50 4-6X | 1-6X 4
7. ALK
() 6-10|6-10|6-20|2-6x|6-50|6-40 3-6X 3
8. +H-=
6-30|6-30|6-20|3-6x|4-6x|6-10|6-30 2
(ThreeF)

Eps KE-/NI (PAC) @ FH-=2 (ThreeF)
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